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1.The HP TippingPoint Network Defense System is a complete set of security solutions that does what? 

(Select two.)  

A. Protects business critical applications from cyber attacks 

B. Measures security effectiveness across people, process, and technology 

C. Captures logs, correlates events, monitors applications, checks for fraud, and manager uses and 

controls  

D. Addresses advanced security threats at the perimeter and core of your business 

E. Delivers risk intelligence from application development to improve operational security  

F. Includes dynamic analytics and scalable infrastructure, as well as predictive intelligence 

Answer: D, F  

2.Which disruptive technology trend is relevant to ArcSight? 

A. The increase in the traditional corporate perimeter 

B. Complexity resulting from removing blind spots 

C. The decline of security compliance 

D. The increased drive to adopt new technologies 

Answer: C  

3.Which statements are true about HP ArcSight solution architecture as a platform for monitoring modern 

threats and risks? (Select two) 

A. It is augmented by services expertise and the most advanced security user community. Protect724. 

B. It captures logs, correlates events, monitors applications, checks for fraud and manager uses and 

controls. 

C. It includes dynamic analytics and policy deployment, as well as predictive intelligence. 

D. It addresses advanced security threats at the perimeter and core of your business. 

E. It measures security effectiveness across people, process, and technology 

F. It accelerates time-to-value for achieving secure applications. 

G. It delivers risk intelligence from application development to improve operational security. 

Answer: A, E  

4.What is a benefit of a holistic approach to security?  

A. Decreasing the number of new security breaches 

B. Proactive risk reduction: seeing everything, providing context, and acting appropriately 

C. Increasing the protection of your cloud environment  

D. Firefighting to solve a problem when a breach occurs 

Answer: B  

5.How does HP Fortify Software Security Center identify and eliminate risk? (Select two.) 

A. By collecting information from any device to ensure you have complete enterprise security visibility 

B. By addressing advanced security threats at the perimeter and core of your business 

C. By providing dynamic analytics and policy deployment, as well as predictive intelligence 

D. By removing security vulnerabilities from the software 

E. By preventing the introduction of risk during application development, in house or from vendors 

F. By measuring security effectiveness across people, process, and technology 
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Answer: D, E 


